Observation 1

any DT signed x[n] can be written

as a sum:

X[n]= \(\frac{\x}{\x} \) \(\x \) \(\x

In other words, any DT signel can be written as a linear combination of shifted impulses

exercise: usite XCnJ= vCnJ as a line combination of shifter impubs:

Observation)

The superment a DT linear system can be written as a sum: $y(n) = \sum_{k=-\infty}^{\infty} x(k) h_k(n)$

when hk (n) is the systems response to the shifted imprh of [n-k]

why? - because XEn] = \(\X\) \(\X\) \(\X\) \(\X\) \(\X\) \) \(\X\) \(\X

Observation 3

The response of an LTI DT system can be written as an even simpler sun! y(x) = \(\frac{2}{K_{\text{exp}}} \) \(\frac{1}{K_{\text{exp}}} \)

when hend is the system's response to send.

"hend is called the unit impulse response"

why? became herend is a response to Eln-k) by time invarionce, hK[n]=ho[n-k] we write hown as h [n]

Introduce "convolution" * between two furctions

Z,[n] * Z,[n] = & Z,[k] Z,[n-k]

Result - for LTI systems, g[n] = X[n] * h[n] where hend is a system response to alm)

How do I get hEn]

Ex y[n] = 3x[n] -2 h[n] =36[n] -2



if an LTI System has unit impulse response hend= uend, what is the system's response due to Cnours = [n]x typni

output is g[n] = x[n] * h[n] = Ex[n] h[n-k] $= \sum_{k=0}^{\infty} \lambda^{k} v(k) v(n-k) = \sum_{k=0}^{\infty} \lambda^{k} v(n-k) = \sum_{k=0}^{\infty} \lambda^{k}$

but U[n-k] =0 when n-k<0 when isk>n, else when kin else it is]

AAA/9 (1/2///

1 if n ≥ 0 n is her if n < 0 , then suration = 0

 $\left(\begin{array}{c} n \\ \geq a^{k}, & \text{if } n \geq 0 \end{array}\right)$ Sv

So
$$g[n] = \begin{cases} \begin{cases} \frac{1}{1-2} & \frac{1}{1-2} \\ 0 & \text{old} \end{cases}$$

$$= \begin{cases} \frac{1-\lambda^{n+1}}{1-\lambda} & \frac{1}{1-\lambda^{n+1}} \\ 0 & \text{old} \end{cases}$$

Know:
$$\sum_{k=0}^{n} \alpha^{k} = \left(\frac{1-\alpha^{n+1}}{1-\alpha}\right) \alpha \neq 0$$

(not) ela Series

$$\sum_{k=0}^{\infty} \alpha^{k} = \begin{cases} \frac{1}{1-\alpha} & |\alpha| \leq 1 \\ \text{direges}, & \text{elso} \end{cases}$$

For CT:

observation 1: any cot signals can be written as an integral $x(t) = \int x(\tau) d\tau$

for any $t \times (\tau) \delta(t-\tau) = x(t) \delta(t-\tau)$ because $\delta(t-\tau)$ is zero for all time except tso $\chi(t) = \int_{-\infty}^{\infty} x(\tau) \delta(t-\tau) d\tau = \int_{-\infty}^{\infty} x(t) \delta(t-\tau) d\tau = x(t) \int_{0}^{\infty} \delta(t) \tau d\tau$

Obserte 2

If a system is liner, the its response con be written as an interest y(t) = \int x(T) h_T(t) d1

when halts is the legion to E(t-1)

Observation If a system is LTI, then its response can be written as

where NC+) is the system rapport to E(+), h(+) is

where MC+) is the system respon to SC+), hC+) is called "unit impose responsi"

Introduce convolution of between 2 ct signals Z,(+) * Z,(+) = S Z,(+) Z,(+) dT

Question? The unit impulse respone of an LTI system is has eval Find the systems rupume to x(1)= etuct)

Answer: is, gas = x(+) * h(+) = 5x(+) h(+-T)dT) = SeTuct-t)dt

 $5\overline{(1-e^{-t})_{U}(t)}$ $+r_{V} \quad h(t) = U(t+7)$ $-B^{+}U(t-1)$

XEn] * hEn] = \(\frac{2}{N} \rangle \k\rangle \h[n-k] = \$ 3°u[k-1]u[n-k] $= \begin{cases} 3^{k} \text{ v[n-k]} = \begin{cases} \begin{cases} n \\ 3^{k} \end{cases} & \text{if } n \ge 1 \\ 0 & \text{jelse} \end{cases}$

= let
$$r = k - 1 \binom{n-1}{5} \sqrt{(n-1)} = (3 \frac{5}{5} 3^{-1}) \sqrt{(n-1)} = (3 \frac{1-3}{1-3}) \sqrt{(n-1)}$$

= = (3ⁿ-1) v[n-1]

hense vens
$$X[n] * h[n] = \sum_{k=0}^{\infty} X[k] h[n-k],$$

$$= \sum_{k=0}^{\infty} a^{k} v[k] v[n-k] = \sum_{k=0}^{\infty} a^{k} v[n-k]$$

$$= \sum_{k=0}^{\infty} a^{k} v[k] v[n-k] = \sum_{k=0}^{\infty} a^{k} v[n-k]$$

$$= \sum_{k=0}^{\infty} a^{k} v[k] v[n-k] = \sum_{k=0}^{\infty} a^{k} v[n-k]$$

$$= \sum_{k=0}^{\infty} a^{k} v[k] v[n-k] = \sum_{k=0}^{\infty} a^{k} v[n-k]$$

$$= \sum_{k=0}^{\infty} a^{k} v[k] v[n-k] = \sum_{k=0}^{\infty} a^{k} v[n-k]$$

$$= \sum_{k=0}^{\infty} a^{k} v[n] v[n-k] = \sum_{k=0}^{\infty} x[k] h[n-k]$$

$$= \sum_{k=0}^{\infty} a^{k} v[n] v[n] v[n-k]$$

$$= \sum_{k=0}^{\infty} a^{k} v[n] v[n] v[n-k]$$

$$= \sum_{k=0}^{\infty} a^{k} v[n] v[n] v[n]$$

$$= \sum_{k=0}^{\infty} a^{k} v[n] v[n] v[n]$$

$$= \sum_{k=0}^{\infty} a^{k} v[n] v[n] v[n]$$

$$= \sum_{k=0}^{\infty} a^{k} v[n]$$